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1. The distance-time graph shows a 140km journey from Meadow Green to Tarn Close.
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(a) (i) Whatis the distance travelled between 13:00 and 14:30?

(i) Find the average speed for this part of the journey.

(b) Explain how you can tell from the graph that it took less time to travel the first 70km
of the journey than it took to travel the final 70km of the journey.
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2. (a) Thenthterm of a sequence1s 7™ — 6.
Write down the first three terms of the sequence.
............................................ ol B = ememenmmm———
p s 3 - A
2]
(b) Factorise .
By
[1]
(c) Factorise 240y — 360
(2]
(d) Solve4(3x—11) =40
(3]
(e) Solve e 3.
: e
JEEr—— e [1]
. 14-5%33-4 :
3. Find ———— :
(a) Fin F107=359 correct to two decimal places
[2]
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(b) A trader sells a table for £45, excluding tax.
Given that tax is charged at a rate of 18%, calculate the price charged for the table.
[3]
(¢) Kim bought a scooter for £1600 on 1% January 2010.

Every year the value of the scooter depreciates by 8% of its value at the start of the

year.
Find the value of the scooter on 1% January 2012.
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4. The exchange rate for buying Canadian dollars ($) at an exchange bureau is $1.64 for £1.
Carys only has £700 to exchange into Canadian dollars. -
The lowest Canadian dollar notes the exchange bureau has are $50 notes.

How many Canadian dollars can Carys buy and how much will this cost her?
You must give the units of your answer.

(185-10)



5. (a) The lengths of 100 fish were recorded.
The results are summarised in the table below.

Length, /cm Frequency
0<I<8 15
8</< 16 67
16<l< 24 18

Find an estimate for the mean length of these fish.
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Examiner
(b) The points scored by 40 fishermen in a competition were recorded. oy
The table shows a grouped frequency distribution of the results.
Score 1to 20 21 to 40 41 to 60 61 to 80 81 to 100
Frequency 4 16 12 6 2
On the graph paper below, draw a frequency polygon to show the data.
(2]
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(a) Calculate the circumference of a circle with a radius of 7-2cm, giving your answer to an
appropriate degree of accuracy.
(3]
(b) Calculate the area of a semicircle with a diameter of 44-8 cm.
.......................................... /’
.,_"‘_!,\ ........... : ...... Fogs ey ‘:'7.2-:'“5:.- .................................................................................
(3]
¢
(c) 8:2cm
7-6cm

12-8cm
Diagram not drawn to scale

Calculate the area of the trapezium.
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(a) Make k the subject of the formula
6(3k—q)=dk + 1.

(b) (i) Write 76 million in standard form.
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A solution to the equation 253 + x — 100 = 0 lies between 3 and 4.
Use the method of trial and improvement to find this solution correct to 1 decimal
place.

(b) Solve the following simultaneous equations by an algebraic (not graphical) method.
Show all your working.

2x -5y =134 Z
= | »
=S a2 FAO%y &
........................................................................................................................... g b BT
e D%
........ DY 1L X
X = 7
............................................................ \
< = § -5 § 7 4
.......................................................................................................... N ‘}—
............................................................................................................................. /~""\"‘:\"
)
/Ll _ i; :/’
......................................................................................................................................... ‘:.-k;............-........u..-................-.......4..‘.....-...-.........
La:/
................................................................................................................................ 7'<‘\,)
{ \ g
] © [4]

(185-10)

Examiner
only



(185-10)

13

9. Triangles LMN and PQR are similar.

&

Diagrams not drawn to scale 0

LM =3cm, MN =2-5c¢cm, PR =3-6cm and PQ = 5-4cm.
Showing all your working, find the length of

(a) RO,
bwtk](kobcwwm ......... L L S S
........................................... v\v\—\’:\ vl
[2]
(b) LN.
e = Z;iv
.................. L e
[2]
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10. The points 4, B, C and D all lie on the circumference of a circle with centre O.

Diagram not drawn to scale

‘ N\ N\
Given that BD = 12-:3 cm, AB = 6-2 cm, BDC = 41° and DAB = 90°, calculate

(a) thelength AD,

(185-10)
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(b) the area of triangle BCD.

(185-10) Turn over.



11. There are 100 pupils in year 8.

16

The time taken by each pupil to answer a question was recorded.

The following grouped frequency distribution was obtained.

theméf;’nds 0<r<10 | 10<2<20 | 20<7<30 | 30<r<40 | 40<t <60
Efprﬁls’er of 10 16 24 42 8
Ny \ AV ‘ L ‘ /\M“ e 7 ’\ )
v c — 3 /‘ ‘
(a) Find an estimate for the median of this distribution.
........... STV gl o ST S BER. .
[1]

(b)

Draw a histogram to illustrate the distribution on the graph paper opposite.
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Time taken to answer in seconds

Frequency density
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Given that y is proportional to x2, and that y = 4 when x = 0-5,

(a) find an expression for y in terms of x,

....................................................... o T S S
k 4] E X~ e
.................................................................... :\
[3]
(b) use the expression you found in (a) to complete the following table.
: - 0-5 3 -
y 4 LT“% 6400
NSRRI ) BN ’ .............. Ao Ty AT e e e
\ o L C
...... '/\\» = .: )‘. tsessssssessscsennnan
[2]
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~ 13. A solid cuboid has length (x + 5)cm, width (x + 4)cm and height 6 cm.
The surface area of the cuboid is 205 cm?.

(a) Show that x satisfies the equation 2x2+42x-57=0.
- k. ‘\ ]

\ \ /

(b) Use the formula method to solve the equation 2x% + 42x — 57 = 0, giving solutions
correct to two decimal places.
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[3]
(c) Hence write down the dimensions of the cuboid.
J'[—’?"‘” ........ AR R
¢ T4 = S AKX m
u:/.\-,‘i // & E [1]
(18510 i Turn over.

Examiner
only



21

Examiner
only

15. A

37cm

Diagram not drawn to scale

Calculate the size of AﬁC.

(185-10)




